D L e el £15 :

6/&( . ﬁ70f% ’MM \/ &héﬁ%éf) Qm/ 7

























D coutl E25




&/ -~z
\/\/
o ks ot
7<: : /L‘ ———
<7 (a) /
> (@) %









)

Xj/(m + 7/%) = £
/AX: 816(74) Ax

Xy(ﬂ

b

= () +C









(SRR

mib by AR M

g //( X) YK

X
[

4
:f@(l/(

e B

{—-[9(;<)y(><\ = 7 (A
(%) + A pix] Y (x) = T 40

(X) l‘( /((X):/’e
/)= pOX)

F(X)




Em,np"’ P

€ general

Boes

ope field in Figure 9.3 with the Proper
o .ch d.e. The particular solution that

farch ¢
plutll 4

=
8 8
25
= @
m».us
g 8
M »
L =5
=Y .
M § R

\\\\\\‘

\\\\\\.

\\\\\\‘
< i @O e
/IIIIIIIIII - ; m. < o
s\s -~ . \\\\\\‘ - “.A‘

$.2 B s s

---- 2 \b\\..%..&.\
\\\\\\\\\\\\\ fov ¥,
L~

e

..y......;,, .\u
\\\\\\\<“u'W‘

. e P ~

oy

. cr s (A o
. N a A E W
N ™ AT\ \ \
!l o sSSNNNN LG L LS
x @ SRNN( LN NNNNN
—_—
N D s B LA N \ N
N
, T IVEED y v
3 \\\\\\\\x\\\\\\\

- L

- - \\\\\\\

P4 DB g

ek bis

-s\~sssss.

AR TN R e

|\\\\\\\\|\\\‘\c

DN

d
)
b

[—2m,27] % [~2,2

S

Y

s

Figure 9.3¢

Solutions

goes with Figure 9

. sal. T






S \:(%\ — Male) = m><”(1 .

A [ 4
qe 4

></e;> _

A-







(
: _ (=
za S/Q/ZG = /F )
\ \ cé’Q ( ((é))
Q&(Q(”w 51/4 / pﬁ(fl’l/ ﬁ,
- N A = 5@ (X%
| g = £a) + 50 (=9
\ 2 (o —— (N— W%
f ool elap
7/4/\7Uf/ L ae o 4 Fime.

Cxact o s(ecd s coqctert






















































































































































